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General Instructions :

© Read the following instructions carefully and follow them :

(1) This question paper contains 34 questions. All questions are compulsory.

(1t)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(iti) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(tv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There 1s no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. Identify the incorrect feature(s) of the Money Supply in an economy,

from the following : 1
(1) It is measured during a period of time.
(1) It includes stock of money held by the government of a nation.

(ii1) It always represents the currency held with Central Bank of the

Nation.
Alternatives :
(A) @) only (B) (1) and (ii1)
(C) (@) and (1) D) @), (1) and (ii1)
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arfirRem (A) : Hifge Tehel Tie] 3cUTE <l qoiT § ITifeeh Hehel B¢l 3cdTg fohelt TY <h
3TTfes Hafig 1 S Tehash g |

HRUT (R) : SRfersh Hehel Hic] 3cdTE H Seg3il 3R Ja13it < Yoo b1 IdaM oy & Jodi
AT S

Tarerea

A) AT (A) FRFRT (R) I T § IR FW (R), 6T (A) 1 w8t =men
HATR |

(B) 3fHUT (A) 3R R (R) SHT T & 3T HROT (R), 310U (A) 1 Tl =aren
EEEES

(C) 3fiheT (A) 9 8, Wfehd %R (R) 31 % |

(D) AfHY (A) 378 B, Afehad HROT (R) T 7 |

ro

w

@ IS AMAHRT G, 3T o 39 T 1 Tg=H L &1 379d 5= Fafe (APS) 3 & : 1
(@t ferehed w1 =R L 1)

™ RFE) | 0 | 50 | 100 | 200 | 300 | 400

STHFM R HAS) | 50 | 75 | 100 | 150 | 200 | 250

ferereu -
@) 50 B) 100
(C) 200 D) 0
4. Tr=ferfea st w1 eamYes 315 1

HUA 1 : ITHWT I T9id Th HALHTET o UFT IcATeH o U & |
HUA 2 : I T I T TT: 37T F=Id 1 RO AT 2 |

few 7w e & areties § frferfaa o @ gt fasheq 1 ==m il -
(A) HYT 1T g TN HYA 2 37T 2 |

(B) $¥T13HIZIANFIT2 AR |

(C) HIT1 IR 2 A AT F |

(D) e 1 31K 2 THI T T |
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Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : Real Gross Domestic Product is a better indicator of
economic growth of a nation as compared to Nominal Gross Domestic
Product.

Reason (R) : Real Gross Domestic Product measures the value of goods
and services at current year prices.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

From the given table, identify that level of income, where Average

Propensity to Save (APS) becomes Zero. 1
(Choose the correct alternative.)
Income
0 | 50 | 100 | 200 | 300 | 400
R crore)
Consumption
50 | 75 | 100 | 150 | 200 | 250
R crore)
Alternatives :
(A) 50 B) 100
(©) 200 D) o
Read the following statements carefully : 1

Statement 1 : Consumption and Savings are the components of National
output of an economy.

Statement 2 : Higher level of Income often leads to lower savings.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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Freaferfaa o1 wet STsrites o H cafed o : 1
() TEST I H S
(i) HAAIG
(iii) 9w g A HH
frerea
A) @), (i), (i) B) (i), (i), @)

(€) (), (iid), () D) @), @), (ii)

Trtafaa wuet =1 ufeu : AfiepaT (A) 3R SR (R) | = for e fommedt o @ @&

forered gfu 1

fireRem (A) : 371 910 IUH T84 W, O] G5l & STaqeaq o forelt Ty <t udi s A
g a2 |

FROT (R) : TR farfome e goreft 3 sterta, feret Ty o1 erteg 951 o1 stamea faesh gz
% e o Tl GgT % oo H hHl ol gefifd B |

ferepe

(A) FMHYT (A) IR HR (R) SHT T & 3BT (R), 3ATHeT (A) 61 9t s
FAE |

(B) AfTHYT (A) TR FHROT (R) SHI IT & 3T HRT (R), 3TRrheA (A) = Hel e
T HR |

(C) TR (A) I B, WAfehd w11 (R) 319 8 |

(D) 3RHUT (A) 7T 8, Afehd HROT (R) T 2 |

7. el st Sfa 46 g T Y 5 T ————
(wret oo gr e T Y gfd &6t 1)
@A) SHE, Mg (B) e T 37T, Hell
(C) o e, HHft (D) @RI wfafer, v
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Arrange the following in the correct sequential order, if the government of

a nation is trying to curtail the situation of inflationary gap : 1
(1) Decrease in disposable income
(1) Increase in taxes

(111) Decrease in Aggregate Demand

Alternatives :
@A) @, (1), (i) B) @), (1), @)
(C) (), (i), (@) D) @G1), (@), (i)

Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : Ceteris Paribus, Devaluation of domestic currency leads

to an increase in National Income of a nation.

Reason (R) : Devaluation of domestic currency refers to reduction in the
value of domestic currency with respect to foreign currency, under

the fixed exchange rate system.
Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

The Central Bank can reduce the Money Supply in the economy by

the . (Fill up the blanks with correct alternative.) 1
(A) increasing, bank rate (B) decreasing, cash reserve ratio
(C) decreasing, bank rate (D) buying, government securities
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TEE foh, R srefereawen # frafafed § @ #R fafl g s e A =i 2 7 1
(T foremea w1 I R 1)

®

(A) TET I FEI3AT HT A |

(B) 9RA T T& aret faefemt g faesti § a1 aftam w61 9fva & |
(C) T Jm WS et Wi vl |

(D) 3 fawa (ROW) & T 07 |

Ife ueh Hiefl [T ST B Y-3187 T TehRIcHeh AT S-1dT 8, 1 39T a1y g b,

©

sy A dma s yaft  siRstmaemimwai 1
(wrdt forepea g e T 1 gfd 6t 1)

@) ferwf, s ®) firaft, frft

(C) werft, =t (D) fer,

—
e

rfaeer 2 ST 6 i, S e g % @ e e w  afe

it I Frafa s aswar g | (Tt forerea g fiar o < gfd =i 1) 1
@) fer (B) =
(C) waifera fereedt (D) @i AT

11. YRA % YA Tge o STqTd, TR g THRESH Wa) T Arerer 37ef §ar | 3

12 (a) “3T % TshiF TaTE o &R0 =01 (Disposition Phase) H SR 3T T Y418
aftfera g 8, fes Bt 3 Tee i e, aogd, = 9 o e gt g |

3T I o THA | HROT FATd §U, U T TS hL qHU i |

w

YA
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Identify, which of the following is not a source of demand for foreign

®

exchange for Indian economy ? (Choose the correct alternative.) 1
(A) Import of goods and services

(B) Remittances by foreigners living in India to their families abroad

(C) Indian tourists visiting foreign countries

(D) Loans from Rest of the World (ROW)

©

If a straight line consumption function makes a positive intercept at the
Y-axis, it implies that the Marginal Propensity to Consume and
Average Propensity to Consume as the level of income rises. 1

(Fill up the blanks with correct alternative.)
(A) remains constant, rises (B) falls, falls

(C) rises, rises (D) remains constant, falls

Under the Exchange Rate System, the Central Bank can control
the rise / fall of foreign exchange rate in a range bound manners. 1

(Fill up the blank with correct alternative.)
(A) fixed (B) flexible
(C) managed floating (D) gold standard

—
—

State the meaning of Autonomous and Accommodating items, under
Balance of Payments of India, with the help of an example. 3

12 (a) “Disposition Phase of circular flow of Income involves flow of factor
Income, which comprises of rent, wages, interest and profits from
firms to households.” 3

Defend or refute the statement, giving valid reasons in support of
your answer.

OR

© 58/4/2/R4PSQ/21 P.T.0.
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(b) Frefrfiaa T 1 ST W FU, W ARE T G W] IAE (NDP) F

T BT ST I :

U E. 3 Tt (% e H)
() |3 = 1,200
(i) | =EmEEriies wrh frew e 800
(iii) | TR ST IuMT = 500
(iv) | frata o sTmmd st stfirerd 100
V) | Mg ATIT HL 150
(vi) | "TergeEt (Inventory) ¥ 9iEd () 50
(vii) | feor gSft <1 3ue 200
(viii) | foreeT & vg FRH 3= 80
(ix) | rerfes wrf frem 70

13. TR TGoTel Sk o “siehi oh o o ToiETeh” Y ohi SATEAT & |

14. ¥ fifST, ¥Ra TR I T 40,000 HUS <Y I INEISHT & 1 Gl (a9
TicaTTad i 1 o foran g |

3= aeft ST I JAfEfdd 7Fd gu, € T8 fRafa & reierawen € 3, TSR 9
IcATE I HHTIord THTS ohi ST hi |

15. (a) A i, Tk eferewe aqer | 7 | fafafaa smwel gro sreferawen § faam
= 1 TUHT R |

@) TEEA™ =T 10,000 HUS
(i) HHra 3w s=| (MPS) = 0.2

(i) &I ITHN (C) = T 200 HUS

(b) “He1 STTHIfT T TE B b LI W, AR etd s T g0 H it w Fehel1 § 17

YA

RBI 21 331U S It 39 shad & deh iR hi fare=mT &t |
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(b) Estimate the value of Net Domestic Product of Factor Cost (NDP.),

using the following information : 3
S. No. Items Amount
(in ¥ crores)
(1) Household Consumption Expenditure 1,200
(11) Business Fixed Investment Expenditure 800
(111) Government Final Consumption 500
Expenditure
@1v) Excess of Imports over Exports 100
(v) Net Indirect Taxes 150
(vi) Change in Inventory (-) 50
(vii) | Consumption of fixed capital 200
(viii) | Net factor Income from Abroad 80
(ix) Public fixed investment 70

13. Elaborate the ‘Banker’s Bank and Supervisor’ function of the Reserve
Bank of India. 4

14. Suppose, the Indian Government decides to boost public investments with
a defence project of ¥ 40,000 crore. 4

Explain the likely impacts of the given situation on the Income, Employment
and Output of the economy, assuming all other factors constant.

15. (a) Suppose, an economy is in equilibrium. From the following data,
calculate Investment Expenditure in the economy : 4

(1) National Income =% 10,000 crore
(11) Marginal Propensity to Save(MPS) = 0.2
(111) Autonomous Consumption (¢) =% 200 crore
OR
(b) “With the objective to correct deflation, Reserve Bank of India may
decrease Repo-rate.” 4

Discuss the rationale behind the step taken by the Reserve Bank of
India (RBI).

© 58/4/12/R4PSQ/21 Page 11 P.T.O.
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Q) ‘T IrefeeR W ™ F TR o fawor § STHHEAIST ol HH H H T
OIS Th IUAN G1eH & Hehal & | 4
AT 3T U 7T o= & Tgwa & 7 379 I ok THH | HI=I deh Tqd o |

(i) wmerfires TTe W1 31ef 9 g7 ford | 9

—
2]

~~
[

~

A%
(b) Fr=faRaa =t am= R Ry, Gofra Sfe sreran s e § affehd o : 6
() U TER HE1 H TThT i ITH ATH |

(i) Tl IT9R H et grasites &= & 3ushd (PSU) & 3790 (Share) & foshi @
HLHT ! 1 |

(iii) *ficTohT TRRT GRT WA TR I FeHTAT 7T 3k |

(a) ma fafer g0 Ui 31 & SATehoi & Gaferd =ToTl <7 91 i | 3

(b) “frsc $© el H, SIS G § T dfg ¥ a1 FhNIcHs aTeraist |
TN ST 1! ATa gs 8 17 3

fu T U 1 Y deni g fag L |

—
~

©us - |
(WA anfeies feremma)

—
®

Wﬁ%ﬁmﬁ%ﬁﬁﬁaﬁ?wﬁw,wﬁmwﬁ%ﬂwwﬁ%mﬁaﬁ
HICAMR ? 1

(A) TISH, WSHUT, TEEHTT, YhfST (B) 3T, A, THEHT, AT
(C) TIISH, TEERTT, Yoo, uftas (D) &R, Yk, afeém, foaawon
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‘Government Budget can be a useful instrument in reducing

any
[
~

inequalities in the distribution of income and wealth in an
economy.’ 4

Do you agree with the given statement ? Present wvalid
arguments in favour of your answer.

(i) State the meaning and formula of Primary deficit. 2
OR

With valid reasons, classify the following into Capital receipts or

Revenue receipts of the government : 6

(1) Dividend received by the government from a Maharatan
company.

(11) Receipts of the government from sale of shares of a Public
Sector Undertaking (PSU) in open market.

(iii) Debt cleared by Sri Lanka Government to the Indian Government.

State the steps pertaining to the estimation of National Income by
Income Method. 3

“In the past few decades, Indian economy has been fairly benefitted
by positive externalities created by rapid rise in infrastructure.” 3

Justify the given statement with valid arguments.

SECTION - B

(Indian Economic Development)

Identify, which of the following alternative indicates towards incorrect
components combination of Agricultural Marketing System ? 1

A)
B)
©)
D)

Assembling, Storage, Processing, Packaging
Production, Assembling, Processing, Grading
Assembling, Processing, Packaging, Transportation

Processing, Packaging, Grading, Distribution

© 58/4/2/R4PSQ/21 Page 13 P.T.O.
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19. ﬁmﬁﬁaa%ﬂﬁaﬁm%q:&ﬁﬁﬁm@)@ﬁiw(ml:ﬂﬁﬁqwﬁwﬁﬁﬁ@
forered gfw 1
AR (A) : AT3EE Wi TS STt &7 o ferepmar o weh aer oft |
&R (R) : Tt & 3 Scure, o 9 STy Sfaeaeicahdl § R & 9o ogad
ITH 3 | St Tl waig <6t oft |
ferepea
(A) IR (A) 3T BN (R) SHT T & 3R HRT (R), TTHHAT (A) hl H&t A&
FAE |
B) AfTHYT (A) 3R FHROT (R) SHI I & 3T HRT (R), 3T (A) h 9t e
T HR |
(C) 3hpYT (A) 9 8, Afeh ST (R) 31T 7 |
(D) 3INHUT (A) T 8, Afehd HROT (R) T 2 |

fraferfaa syt =1 afew : sfimem (A) 3tk wror (R) | = fou o oot & @ @

[ECTRRCIEI 1

fireReM (A) : WA o UIfehEaT o forehTal STgwe 3 8 FHMAT § |

HROT (R) : A T U™ gA1 3 Teh ST {9sil &1 S W 37fersh 5et feam e |

ferehea :

(A) 3AfTHYT (A) 3R HROT (R) THT T § TR HROT (R), Jhe (A) i H&! e
HIATR |

B) 3fFHYT (A) 3R FHR (R) SHT I & 3T HROT (R), 31U (A) 1 Tl =Iren
T wg |

(C) AN (A) 9 2, Wifehd ®R0T (R) 318 7 |

(D) IANTHUT (A) 3THH B, AfhT BRI (R) THA R |

)
e

]
—

. Y 1 T TEt YUTTert 2, ST T Hqe i S8 Hid! 8, S W@l 8

T Jhg A 2 | (T T gru feaa T 1 gfd 61 1) 1
(A) URUR (B) THME®
(C) ifern (D) =g&HE
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19. Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : License Permit Raj was a major obstacle for growth of
private sector.

Reason (R) : Private sector wasted huge amount in obtaining licences,
rather than on improving the product, quality and international
competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Lo
e

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : The developmental experiences of India and Pakistan
have a lot of similarities.

Reason (R) : Both India and Pakistan laid emphasis on creating a large
private sector.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

21. farming is the system that restores, maintains and enhances the
ecological balance. (Fill up the blanks with correct alternative.) 1
(A) Conventional (B) Chemical
(C) Organic (D) Multi-layered

QOCLEEEICEEOEEEICEEUECEEIEEEOEEOEIEEEOOEEEIELEOOCEEICCEO
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25.
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[aHeH
T # 3ATifeh e o T 3R Tfehear o o TRy fepumu o |
(Tt forerew g ek Tt &1 gfd ot 1)
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988
. Torfesr s 6 s7arta, iy < SATaERie o Tiomesy Sy Iamed HHeT 9
Tl § TN 8 T | (Tt forepe g ik Tt <1 gfd ot 1)
(A) g, @™ (B) =UE, 5[
(C) @, e D) &, @&
FreferRaa et o1 eaTgEs STereH i

HUA 1 : T 7 A TRt & forw arfafer amfses a9 sniie steer 3o i & fore
ISR o <1 39FTT fepaT ® |

HUA 2 : T H TSR g AT FEHTHS & & FHI § Oe foaehE Gehasl |
Geh e IRt feu 2 |

feu 7w et % 3Tetieh § fferRaa o 9 Tt fasea &1 w9 Fifsw

(A) YU 1 G g N HYA 2 TR |

(B) U1 IHILINFAT 2T |

(C) ®e 1323 aT ¢ |

(D) HUT 1IN 2T IHAE |

FreferRaa et o1 eaTgEe Ter

T 1 : T ufaest Taemr HRferd (NSSO) o IIER, SR 98 7w 7, formw
Sfth S o IS o HRUT &1 M & E I & | F ST ARk 781 7, W
AT USTTRGTATSAT § T Wi T8 & | SaH TRIEIEl o S=ied 7eigh &t W M
T h) 35T Tehe L BT dATId & |

THUA 2 : T AT AT TSI Tl e T T~ SRISHTRT STHAR UX Th 91 FHE R |

feu U et % 3retieh # fferiad o 3 Tt fasea o1 =aw Fifvu

(A) YT 1 HcI 2 HYT 2 IHA R |

(B) U1 3HILIMNFATI 2T |

(C) HUT1 IR 2 AT E |

(D) HUT1 32 HI HATAE |
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22. Economic reforms were introduced in the year in India and in the
year in Pakistan.  (Fill up the blanks with correct alternative.) 1
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988

23. Under the British Rule, commercialization of agriculture resulted in
shifting of agricultural production from crops to crops. 1

(Fill up the blanks with correct alternative.)

(A) Cash, Food (B) Cotton, Jute
(C) Food, Cash (D) dJute, Food

24. Read the following statements carefully : 1

Statement 1 : China has used the market mechanism to create
additional social and economic opportunities for its citizens.

Statement 2 : In China Social Infrastructure created by the government
brought positive results in human development indicators.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statement 1 and 2 are true.

(D) Both Statement 1 and 2 are false.

25. Read the following statements carefully : 1

Statement 1 : As per National Sample Survey Organisation (NSSO),
unemployment is a situation in which all those who, owing to lack of
work, are not working, but seeking work from prospective employers,
expressed their willingress to work under the prevailing condition of
work and remuneration.

Statement 2 : Disguised unemployment is generally a massive problem
in the highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statement 1 and 2 are true.

(D) Both Statement 1 and 2 are false.
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26. 1970 % g T, UTfehd = 39 SET T UFIhT0T foharm T | 1
(Tt forerea gr e T 1 gfd &1 1)
(A) erfehean sf=m gt (B) SRR o1&
(C) sfia a&g (D) fereeft =M
27. g i for ffeafitad 4 9 9 91 v awr 1 U s T8 8 ? 1
()  3rufre o sfeswo -
(1) e & fRrar
(iii) Hicd waf HaTd SEgH HEAT
fereheu :
A) ¥H 1) B) #= (1)
(C) (i) 7 (ii1) D) @9 aD)

28. (a) YR Rl % AT feH 3eva o &9 § “STYfAhIhT i UM & iR

QOCLCEEICEEOEEEICEEUECEEIEEEOEEEIEEEOOEEEIEEEOOCEEICCE0

R GieTe ==l | 3
FAoran
(b) ‘PN IvgH TR fod W 9l 9 Tt 8, W A 9 HHTa et W fog a7
3t TEwEH B I 3
few Tu e o1 S fag ot |
29. AT 39T Al H, HY # T o e’ & Twdr & @& S g foher mm e |
AT AT TeU U e W TEHA & 7 9 Tohl gRT 79 I b1 FHT i | 3
30. (a) (i) fHep SHEEAT ITATd Sl TTTING i | 1
(i) “wra s ugh e Hfifd 2020 Sameprela fement % gfdrerr wWoaga SR &
ik 3
feu U wUT & 3rTers H, Tt oft Ty % e &9 % I H 3H ThR &
YATehToA I TTIT&TUT o IS I ATHI o1 Sooiid o SATEAT . |
aroran
(b) () W swIfd qUT g shifd T 3T T B | 3
(i) IATeRTER TG HfHeh i TRATNT &1 |
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26. In the decade of 1970’s, Pakistan nationalised its industry. 1
(Fill up the blanks with correct alternative.)
(A) Medical infrastructure (B) Consumer goods
(C) Capital goods (D) Foreign trade
27. Identify, which of the following is not a correct function of environment ? 1
(1) Exclusion of waste
(1) Sustainance of life
(111) Provide aesthetic services
Alternatives :
(A) (@) only (B) (1) only
(©) (1) & (i) D) @) & (D)
28. (a) Discuss briefly the rationale behind adopting ‘modernization’ as a
planning objective for the Indian Economy. 3
OR

(b) “Farm subsidies put a huge burden on the government finances, but
are necessary for the poor and marginal farmers.” 3

Justify the given statement.

29. Goals of Equity was fully served by ‘abolition of the intermediaries’ in
agriculture in the post-independence period of India. 3
Do you agree with given statement ? Support your answer with valid

arguments.

30. (a) (@) Define Worker — Population Ratio. 1
(1) “National Education Policy 2020 of India stresses a lot on

in-service teachers’ training.” 3

In the light of given statement, state and explain any two
advantages of such on-the-job trainings in upliftment of
education sector of any nation.

OR
(b) (1) Distinguish between ‘Green Revolution’ and ‘Golden Revolution’. 3
(1) Define Casual Wage Labourer. 1

QOCLEEEICEEOEEEICEEUECEEIEEEOEEOEIEEEOOEEEIELEOOCEEICCEO
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33.

@Em
E-%J

. Towga w9 @ swgmd fop wra Y anfeis gam ufskan 3 fFrafafea w1 fea wer yafaa

ﬁo_&ﬂ:
(a) V&=
(b) 3fes &=

. (@) “h3 fagm wRa, wifeeeae o =iw o o Srerfiesdr 1 am aftf@fa ama §

forym fetmmrTa < 3reTes # feu 7 w1 fag |
(b) TRl g1 AT Hehdeh! W1 Ieoid i |

7% fooefl § G-20 13T 1 =SINUT ST TRIWE a0 R “BH T I 9 T URER @
AT FH Teh AT A F B |7

3 HI9OM H AT 4, 2030 SIS 7°T Had faehd A&t (SDG's) ! quid: 9 JuTet &9 5
foranfeera ot &1 deheu Toram B | anworas © fafga Sranati < wfdagand “gam 3ma-um &
arfeferfeen O % T TeWTe | & % o i gunidi 8 |

YU T8 GfY T ® 56, “SDG & 2030 % TsiweT T AEdT e Td Tl o
AT ! IeTe L @ fean 87

a1t | =g giafvad o fos, “fereht oft Trg o6t el <Y wieé @ geft <t wrer A @ fopeht
Teh 1 T T HHT UL |

Tuft Jarati A frefafiga & fou sl w3 =1 gecy fomn 2

e TSeW, Had, Hdfetd 9 quTaef faehm A e

e 2030 TIET % YUl 7 YTl It H dwll;

o Ty &R 9 Wi 9§ Haq o™ 9y 9T,

o  FEM, SATUSH AT Aersh e for wRTH o foTw Formi ot 31T SIgHT |

gt 91, “SDG W WIfd T disdt o & foTt G-20 2023 1 JSHT & YATe 9 gHIag
Hri=a % fore agfech wEiaTd S % forw afherg €; saH @ o HuIo 1 @ed B,
Ifoaeh e S Ygg AT AT WL IRV Sl SN AT aUT ToraTgul e wem
HET AR R |

(a) SDG I 3ucAfed ¥ Afesh I o Uetd h oot o AT, |
(b) TA-TT YT h! TIHTE TGH B 7 SH1-20 AT 1 HRl AT 6T g |
== Y|
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w
o

w
e

[E3E
(et
Elaborate how the economic reforms process of India impacted the
following :
(a) Agriculture sector
(b) Industrial sector

(a) “Scholars find son preference as a common phenomenon in India,
Pakistan and China.”
Justify the given statement in the light of skewed sex-ratio.

(b) State any two liberty indicators.

“We are One-Earth, One Family and we share One Future.” is the opening
sentence of the G-20 New Delhi Leader’s Declaration Statement.

In this statement the leaders pledged to “resolve to fully and effectively
implement the 2030 Agenda and the Sustainable Developmental Goals
(SDG’s)”. The leader’'s commitments contained in the Declaration
statement reflect, “the philosophy of living in harmony with our
surrounding ecosystem”.

The Declaration recognises the “Cascading challenges and crisis that have
reversed gains” on the 2030 Agenda of SDG’s.

The leaders “affirm that no country should have to choose between
fighting poverty and fighting for our planet”.

The leaders resolved to act

° accelerate strong, sustainable, balanced and inclusive growth;
®  accelerate the full & effective implementation of 2030 Agenda

® pursue low-carbon and environmentally sustainable development
pathways;

®  Pursue reforms for better, comprehensive and more effective finance
avenues.

The leaders commit to “taking collective actions for effective and timely

implementation of the G-20 2023 Action Plan to accelerate progress on the

SDG’s; including through actions on eliminating hunger and malnutrition,

strengthening global health and implementation of One Health approach,

and delivering quality education.”

(a) State and discuss the importance of collective fight in achieving
SDG’s.

(b) Discuss briefly the action plan of G-20 leaders in promoting ‘One
Health’ approach.

3

3
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(a)

(b)

@Em
E%

G)  orehor ek 3 G % HEw 1 ST |

(i) ‘“9IRd GEAT TENFEET 1 T Hh W bl T TR Tdeaen §
giafdd L abhar g |

few 7w e 1 S fag &t |
Sra

Q)  “IUETG & % S ST &9 W USTR Scd= T AEwsh 2 |
T 7T gRT few T ke @ sftfac fag i |

(i) TR GRI N fordur gu o foTe 379HTe T formel g1 Sumi <hi e i |
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(a) (1) Elaborate the importance of credit in rural development. 3

(11) ‘India can transform itself knowledge-based economy by using

information technology.” Justify the given statement. 3
OR

(b) @) “It is necessary to generate employment in the formal sector

rather than the informal sector.” 3
Justify the given statement with valid arguments.

(1) Discuss any two measures initiated by the government to

improve Agricultural marketing in India. 3
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